[*]

A

Mo
o

L5

17 y = % + 4 9] o] it A T 4] &
237

Rl

@ y Zoll disto] et elct.

@ #H (-2,0) 2 A

@ HAHO 2= (0,4) oIt

@ x 9 gho]l Z7r f, y o] = S7HI.

® y=-x2 -4 9] J|x} x Fof tfate] th o]t



a>0, ¢>0 <L, ozt y = ax® +¢ o THZE A HAREHES

AupA] atele,

o e

o e



O|APFA A X2 —4x +a
S = il
@ 3 B3 4

@-%013051@1’(194%}:],}.



4. B SR SR f(x) =22 +x+ 1010 fla) =3 L ™, a ]
@427 (Fa>0)

® 1 @ 2 ® 3 @ 4 ® 5



OIS y = —4x? + kx +2 9 TRZOA x ] gro] F7ksA y
1 [e)

Q= F75HE x o ko] WIFx < S o o, & 9 G Fatolk

Bcix=



